Fwd: Thank you for your Urban Outfitters order!

From: Arya Akal (arya.akal18@gmail.com)

To: ishana_akal@yahoo.com

Date: Wednesday, September 20, 2023 at 10:38 PM AST

----- Forwarded message ------

From: Urban Outfitters <urbanoutfitters@s.urbanoutfitters.com>

Date: Tue, Sep 19, 2023 at 11:10 PM

Subject: Thank you for your Urban Outfitters order!

To: <arya.akal18@gmail.com>

URBAN OUTFITTERS

Order Confirmation

Order Number: TP40589610

Hi Ishana,

Thank you for shopping at <u>UrbanOutfitters.com</u>. We'll be in touch as soon as your items become available to ship.

Please note: delivery timeframe reflects the most up-to-date information, however some orders may experience delays due to increased package volume in carrier networks. Any backordered items will have the estimated availability date listed under the product information.

Shipping Information

Shipping Address

Ishana Akal 12225 Southwest 128th Street Unit 104, SUITE#, STE# 8493 Miami, FL 33186

Standard Shipping

Arrives by: 09/26/2023

about:blank 1/6

Please keep in mind that items are shipped as they become available and that you may receive multiple packages.

Item Price Qty Total



Cone Shaped Candle

Style No. 69026664 \$ 4.95 4 \$ 19.80

Color: Gold Size: ONE SIZE

Price: \$ 4.95

Qty: 4

Total: \$ 19.80



Laurel Double Taper Candle Holder

Style No. 80431844 \$ 9.99 2 \$ 19.98

Color: Rust

Size: ONE SIZE

Price: \$ 9.99

Qty: 2

Total: \$ 19.98



Laurel Double Taper Candle Holder

Style No. 80431844 \$ 9.99 2 \$ 19.98

Color: Blue

Size: ONE SIZE

Price: \$ 9.99

Qty: 2

Total: \$ 19.98



Mushroom Felted Planter Cover

Style No. 69502086 \$ 9.00 3 \$ 27.00

Color: Green Size: ONE SIZE

Price: \$ 9.00

Qty: 3

Total: \$ 27.00

about:blank 2/6



Daisy Field Planter Cover

Style No. 67688705 \$ 9.00 3 \$ 27.00

Color: Green Size: ONE SIZE

Price: \$ 9.00

Qty: 3

Total: \$ 27.00



Lil Chunk Mug

Style No. 80405053 \$ 34.30 1 \$ 34.30 \$49.00

Color: Rust

Size: SET OF 4

Price: \$ 34.30 \$49.00

Qty: 1

Total: \$ 34.30 \$49.00



Diner Beaded Coaster Set

Style No. 80767312 \$ 9.80 2 \$ 19.60

Color: Blue

Size: ONE SIZE

Price: \$ 9.80

Qty: 2

Total: \$ 19.60



Milk Mug

Style No. 67804898 \$ 5.00 4 \$ 20.00

Color: Almond Milk Size: ONE SIZE

Price: \$5.00

Qty: 4

Total: \$ 20.00

about:blank 3/6



Milk Mug

Style No. 67804898 \$ 5.00 4 \$ 20.00

Color: No Milk Size: ONE SIZE

Price: \$5.00

Qty: 4

Total: \$ 20.00

Billing Information

Billing Address

Payment Method

Ishana Akal 12225 Southwest 128th Street Unit 104, SUITE#, STE# 8493 Miami, FL 33186 Master Card Ending in: 6623

Order Summary

 Subtotal:
 \$207.66

 Shipping:
 \$0.00

 Tax:
 \$14.56

 Total:
 \$222.22

If your method of payment is a gift card or e-gift card, the charge will be processed immediately.

Changed your mind?

You have a short window of time to cancel your order. If you are unable to cancel, you can return or exchange your items once your order arrives.

Manage Your Order

about:blank 4/6

You may also like...



UO REWARDS'

10% OFF YOUR ENTIRE PURCHASE WHEN YOU JOIN UO REWARDS



Shop UO Help + Info Find a Store
Contact Us UO Rewards UO Community



















Questions?
Contact us
Find us on Twitter @UOHelpMe

US & Canada Customers: Customer Service (800) 282-2200 Open 24 hours a day, 7 days a week

about:blank 5/6

All Other Customers:

Click here for details on how to contact us.

Need to make a return? Click here for details. Restocking fees may apply.

To ensure delivery to your inbox (not bulk or junk folders), you can add <u>urbanoutfitters@s.urbanoutfitters.com</u> to your address book or safe list.

© 2023 UrbanOutfitters.com All Rights Reserved

about:blank 6/6